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o EX| 27 x| X2 | CHEEE(w) | HYEHm) 8ZAld | H|D
A 1,479,746.5 | 1,355,088.0

SMZA 2T 2B 108 = 1,061.0  1,061.0 SXIX|Y
SMZA £ 2BS 1081 = 1,061.0  1,061.0 SXIX|Y
SAYA 57 B 109 ™ 417.0 417.0  =XXY
SMZA 2T 28 110 ul 509.0 509.0 =X[X|Y
SMZA 2T 2B 111 | 231.0 231.0  =XXY
SN 57 B 112 EEX| 1,345.0  1,345.0 =X[X|H
SMZA 8T 2BS 1151 X 1,038.0 853.0 =X|X|Y
SN 57 2B 115-2 ™ 1,177.0 588.0 =X[X|Y
SMZA 2T 28S 115-3 X 615.0 615.0 =X|X|Y
LA 57 285 116 X 1,068.0  1,068.0 =X|X|Y
LA 57 2B 117 X 1,164.0  1,164.0 =X|X|Y
LA 57 78S 118 = 788.0 788.0  =X|X|
LA 57 2EE 1181 X 336.0 336.0 =X|X|
LA 57 285 119 X 2,884.0 2,884.0 SX[X|
LA 57 2EE 119-1 ch 610.0 610.0  =X|X|
LA 57 REE 122 X 476.0 476.0 =X|X|
LA 57 2EE 1231 X 192.0 192.0  =X[X[A
LA 27 REE 1232 Sk 36.0 36.0 = =X|X|<
ZoiA| 8T 2BE 124-1 | TEBX| 2717.0  2,717.0  SX|X[
AYAA| 87 REE . 124-3 | EEX| 623.0 623.0 =X|X|
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o3 LZESNIN x| XS EEN() | HYHHm) ST
SLYAA 57 £BS | 947 E=2 1,035.0 = 1,035.0 = =X[X|
SAYAA 27 FBE | 4M0-5 ot 5,950.0 937.0 = =X|X[<
SAZYAN 27 2BE | LM2 2lof 2,217.0 | 1,803.0 =XIX[
SAYAA 2T FBE | LH2- 2lof 2,047.0 188.0  =XIX|Y
SLYYA 57 28BS LH43- 2l of 3,471.0 = 3,471.0 =XIX|A
SUYAA 27 R8BS | LM3-2 | 2ot 3,669.0 = 3,669.0 =X|X|
SUYAA 27 RBE | L4 2/ of 925.0 91.0 | =XIX|H
SUPAA 27 PBS | LH4-1 2lof 661.0 661.0 =XIX|<
SAYAA 27 FBE | tM4-2 | 2ot 1,058.0 = 1,058.0 = =X|X|
SAYAA 27 FBE | tM4-3 | ot 992.0 992.0 =X|X[<
SHYHA 57 28BS LM4-4 2l of 1,322.0 1,322.0 =XX|Y
SUYAA 27 R8BS | tM4-5 2ot 992.0 992.0 = =X|X[<
SLPA| 57 28BS M5 el of 595.0 595.0 =X|X|Y
SAYAA 27 2BE | LM6 2l of 2,149.0 | 2,149.0 =X|X[
SAYAA 2T FBE | AH6-1 2lof 3,670.0 | 3,570.0 = =X|X[
SAYA 27 2BE | tM6-2 | 2ot 1,653.0  1,653.0  =X|X|
SHYA 57 285 LH6-3 2l of 3,670.0 = 3,570.0 =X|X|A
SUYAA 27 R8BS LM6-4 | 2ot 1,983.0  1,983.0  =X|X|
SHYHA 57 28BS LM46-5 2l of 1,984.0  1,984.0 =X|X|Y
SAYAA 27 2BE | AM6-6 2ot 1,653.0  1,653.0  =X|X|




o3 LZESNIN x| XS EEN() | HYHHm) ST
SLPA 57 285 t46-7 | ot 1,693.0  1,593.0 =X|X[|H
SMYYA| 57 FBE | LM6-8 | 2ok 1,712.0 | 1,712.0 =XXS
SMYYA| 57 FBE | LM6-9 | 2ok 1,653.0 | 1,653.0 =X[X|Y
SMYYA| 57 FBE | LAM6-10  2of 1,653.0 | 1,653.0 =X[X|Y
SUYYA| 57 RBS | LM6-11 | 2ok 1,819.0 | 1,819.0 =Xx|Y
SUYYA| 57 RBE LT 2lof 2,314.0 = 23140 =X|X|
SLYA| 57 28BS 4471 2 of 1,087.0 = 1,087.0 =X|X|H
SMYYA| 57 FBE | LM7-2 | 2ok 1,653.0 | 1,653.0 =X[X|Y
SMYYA| 57 FBE | LM7-3 | 2ok 1,984.0 | 1,984.0 =XX|Y
SMYYA| 57 FBE | LM7-4 | 2ok 202.0 202.0 =SX|X|
SUYYA| 57 RBS | M8 elo} | 23,306.0 23,306.0 =KX
SUYYA| 57 RBS M9 2jof 1,983.0 | 1,983.0 =Xx|Y
SUYA| 57 RBE | L9 2jof 1,653.0 | 1,653.0 =Xx|Y
SMYYA| 57 FBE | LMO-2 | 2ok 1,455.0 | 1,455.0 =X[X|Y
SMYYA| 57 FBE | LMO-3 | 2ok 1,323.0 | 1,323.0 =X[X|Y
SMYYA| 57 FBE | LHMO-4 | 2ok 1,653.0 | 1,653.0 =X[X|Y
SHYYA 57 285 LHM9-5 | 20} 1,454.0  1,454.0 SX|X[Y
SUYYA| 57 RBS 450 2jof 1,860.0 | 1,860.0 =X|x|Y
SUYAA| 57 RBE | L1501 2jof 259.0 259.0 =X|X|<
SMYYA| 57 FBE | L5022 | 2ok 162.0 162.0 =X




oAt EX| 2R X]| x| A= HEHEA(w) | HYHEM(m) | XY H| 1
81 | SALYA| 27 2EE AIB0-3 olof 1,983.0 = 1,983.0 =X|X|
82 SR 27 RES | M504 lof 1,984.0 1,984.0 | =X|X[Y
83 | 2AMmYA =7 2ES AM50-5 | Qlof 992.0 992.0  =X|X|Y
84 SR 27 RES AM50-6 2lof 992.0 992.0 | =X[X[Y
85 | SAYA| BT 2ES | AB0-7 ol ok 1,983.0 = 1,983.0 =X|X|
86 | SMYYA| 57 REEZ A1 oo} 3,769.0  3,769.0 =X|X|
87 SHEHEA 5T FES 252 olot 3,305.0 3,305.0 =X|x|
88 SHYHA 57 RBS {521 elok 595.0 595.0 @ =X|XY
89 | sMmYA =7 RES M52 Qlof 2,149.0 = 2,149.0 SX|X|A
90 SMEYAA 57 RES | £152-8 2lof 827.0 827.0 | =X[X[Y
91 | SMTYA| BT REE A52-4 olof 1,322.0  1,322.0 =X|X|Y
92  SiYA 57 28S  4I52-5 olof 1,157.0 = 1,157.0 | =SX|X|H
93 | SAYA| BT 2ES | AB2-6 olof 1,653.0 = 1,653.0  =X|X|
94 SHYUA 57 RBS  {A52-7 elok 1,653.0 1,653.0 | =X[X[Y
95 SMYAA 57 RES | L152-8 lof 1,818.0 1,818.0 | =X[X[Y
96 SEYA =7 28BS 2153 lof 14,678.0 6,915.0  =X|X|A
97 SMYAA 57 FES | AH53-1 2lok 3,305.0 3,305.0  =X[X|HA
98 | SALYA| 27 REE AIB3-2 ol ok 3,306.0 = 3,306.0 =X|x|
99 | SALYA| 27 REE AI53-3 ol ok 1,653.0 = 1,653.0 @ =X|X|
100 | SMHYAl 57 £8S | L6534 lof 1,653.0 1,653.0 | =X[X[Y




e EX|ARYX| x| X2 CHEEHE(w) | BHAWES() 8EXY | H[Z
101 | S4HYAl 57 285 M54 olot 595.0 228.0 SX|X|<
102 | SAHYA| 27 225 AHB5-1 7 151.0 151.0 | =X[XY
103 | SAHYA| 27 225 4561 olof 81.0 81.0 =X|X|
104 | SAHYA| 27 225 A7 olof 4,364.0  4,364.0 =XK<
105 | 24MHYAl 57 285 A58 olot 3,306.0  3,306.0 SX[X|
106 | SAHYA| 57 285 4581 elof 3,306.0  3,306.0 SX[X|
107 | SUHEYA 57 28 4158-2 2lof 1,653.0  1,653.0 =X[X|H
108 | 2AHHYA| 27 285 A158-3 elof 826.0 826.0 =X|X|
109 | SAHYA| 27 225 A58-4 elof 1,653.0  1,653.0 =X[X|Y
110 | S4YYA| 57 285 | AH58-5 elof 1,653.0  1,653.0 =X[X|Y
111 24HgYA 57 285 ABQ olot 3,306.0 20.0 SX|X|
112 | 20HYA| 57 285 44591 olot 4182.0 2,537.0 SXX|4
113 SMloA| 27 2EE | A50-2 | Qlof 3,774.0 484.0 | ‘=X|x|d
114 | 24-9A| 27 285 A150-3 elof 3,306.0 930.0 =X|X|<
115 | S4-YA| 57 285 | A50-4 elof 3,680.0  1,584.0 =X[X|
116 | 24HYA| 7 XS 195-1 c=2 470.0 470.0 =X|X|<
117 | S9N 57 XS 195-3 T2 2,528.0 530.0 | =X[X|
118 | 24HYYAl 57 HXIs 2001 7 1,007.0 50.0 SX|X|<
119 SMA 27 XS 200-3 =7 557.0 557.0 ‘=X|x|d
120 | SAYAl ST HAKE | 200-4 7 23.0 23.0  =X|X|4




A =X R XS M) BUYMm)  8ZAd | blD
121 2MmoiA 27 EXE | 2271 | £2 185.0 88.0 =X|x|e
122 SMZoA 27 MRS 2311 zili 102.0 102.0 | ‘SX|x|
123 SMZoA =27 RS 2313 @ E= 263.0 30.0 ‘XX
124 | SMNZYA 27 HRE 231-4 ot 221.0 221.0 ‘=KX
125 | 2AoA 27 RS 231-5 Zili 606.0 80.0 ‘=X|X|o]
126 | SAoA 27 HRE 231-6 = 61.0 57.0  =X|x|e
127 | SAZeA 27 NS 030 zili 2210 2010 ‘=xx|ef
128 | 2imoin 27 HXE | 232-1 ! 201.0 201.0 ‘XX
129 | 2imei 27 ¥xE | 233 = 8.0 8.0 ‘mX|x|
130 SMZoA 27 MRS 2331 Zili 226.0 226.0 ‘=X|X|od
131 SAoA 27 HRE 233-5 = 881.0 50.0 ‘=X|X|o]
132 SN 27 HRE 233-6 zili 261.0 60.0 ‘=X|X|o]
133 SMZA 27 HXE 234-1 | olof | 25640 1,180.0 =X|x|<
134 SMNZOA 27 RS 240 ot 144.0 440  =X|X|
135  SMZoA 27 MRS 241 ot 471.0 4710 ‘sX|x|
136 SMZoA 27 MRS 2412 ot 161.0 148.0  ‘sx|x|
137 | S =7 A= 242 olot 635.0 635.0  =X|X|A
138 SAoA 27 MRS 243 ch 823.0 823.0 ‘=X|X|]
139 | 29 5+ A 244 =1 308.0 308.0 =X|X|
140 | SMLYA 27 FXE | 244-2 = 536.0 379.0  ‘=x|x|




He SRR R X2 | R | HUWEAM)  BEX | w1
141 S0EYA 2T FXE 248 =) 60.0 21.0 | SXX|H
142 | SMEYA 2T MRS 249 = 112.0 8.0 =XIX
143 | 2MHgYA 27 ¥AE | 250 =) 802.0 802.0  =X|X|
144 | S0ZYA 27 XS 250~ = 4.0 20  SXX[Y
145 | SMHEYA 27 MRS | 250-2 = 206.0 205.0 = =X|X|<
146 StoA 57 HXS | 251 H 79.0 79.0 | =X
147 | SMLYA| 27 HXIE 252 M 314.0 314.0 | =X[X[
148 | MHgYA =27 MRls | 253 CH 40.0 40.0 | =X[X|Y
149 | SMEYA =27 HAE | 254 = 1,731.0  1,731.0 | =X|X|
150 | StREYAl 57 HAS 2541 = 5.0 50 =X[XY
151 288N 57 ¥Rl 255 =) 298.0 298.0  =AIXA
152 | SN 2T MRS 256 = 1,398.0 = 1,398.0 = =X|X|
163 | 2MFYA 57 FXE | 257 = 50.0 50.0 =XK<
154 | SMHgYA =27 MRls | 258 CH 331.0 331.0 SXIX
155 | SMHEYA 27 MAE | 260 = 473.0 473.0  =X|X[
166 | 20U =27 XS 260-1 = 108.0 740  SXX|Y
167 | S4YA 27 XS | 260-2 = 152.0 1562.0  =X[X|A
158 | 249N 27 XS | 261 CH 615.0 614.0 =X|x|
159 | 24U 2T HAE 262 CH 995.0 981.0 = =X|X[<
160 | SMHEYA =27 MAs | 263 CH 311.0 311.0  SXIX<




A =X R XS M) BUYMm)  8ZAd | blD
161 | SAZYA| 27 HAE 2631 o 89.0 76.0  =X|X|Y
162 | SMUA| 2T HXE 264 ol o} 628.0 1.0 | =X
163 | SARUA| 23 MAE 375 | 255.0 255.0  SX|X|Y
164 | SMZYA 27 XS | 375-2 X 967.0 141.0  SX[X|A
165 | SHEYA 57 XS 376 = 461.0 449.0 =X[X|A
166 | SAZA| 27 HAE  376-1 = 76.0 76.0  =X|X|Y
167 | SMIYA| 2T HXS 3764 =t 764.0 18.0 =X|X|d
168 | SMHEYA =7 FAE | 376-5 =1 95.0 38.0  S=XXY
169 | SHEYA 57 XS 377 =1 537.0 537.0 | =X|Xx|d
170 SAA 27 HRE | 377-3 = 132.0 132.0  SXX|A
171 SMZA| 27 HAS | 378 =) 132.0 132.0 | =X|X|A
172 SUHEYA 87 HXS 379 =1 307.0 307.0 =X[X|H
173 | SMYYA 7 XS 380 =t 378.0 378.0 =X|X|Y
174 | S9N =7 FRE 381 =1 233.0 233.0 | =X[X[Y
1756 | StHEY9A 57 dAkE | 382-1 =1 889.0 889.0 @ =X|X|d
176 | S9N 57 Al 3822 =1 1,707.0 1,707.0  =SX|X Y
177 | SHE9A =7 FAs | 3824 =1 831.0 831.0  =X|X|A
178 | SMYYA| ST HAES | 383 =t 622.0 622.0 =X|X|
179 SUHEYA 87 XS 384 =1 780.0 780.0 =XK<
180 | SMZA| 27 HXE 385 = 112.0 112.0 | SXXA




ol EX|ATHR| x| X2 EREN(y)  HUME(y) 8EXd | H|D
181 | SAHYAl 57 XS 386 = 323.0 323.0 =XX|Y
182 | S4HYYAl 57 HAS 386-1 = 322.0 322.0 =XXY
183 | SAHYAl 27 HXE 387 ™ 400.0 400.0 =XXY
184 | SAHYA| ST HAKE | 388 ﬁ 327.0 327.0 =XXY
185 | SAHYAl 27 HXE 389 = 868.0 868.0 =X|X|Y
186 | SAHYYAl 57 ¥XE | 389-1 = 5.0 5.0 =X|X|
187 2N 57 IXS | 389-2 = 1,292.0  1,292.0 =X|X|H
188 | SAHYYAl 27 HXE . 390 ﬁ 268.0 268.0 =X|X|Y
189 | SAHYAl ST HAE 391 = 379.0 379.0 =XXY
100 | SAHYAl 27 HXE | 391-1 = 679.0 679.0 =XX|Y
191 | SAHYAl 57 HAlE | 392 = 1,023.0  1,023.0 SXX|Y
192 | SMEYA 57 XS 392-1 =1 12.0 12.0  =XXY
103 | SMHYAl 57 HAlE | 393 =) 164.0 164.0  SX[X|A
194 | S4HYYAl 57 XS 3931 = 100.0 100.0  =X[X|A
195 | SAHYAl ST HAE | 393-2 = 609.0 190.0  =X|X|A
106 | SAHYAl 27 HAE | 393-3 = 29.0 29.0 =X|X|H
197 | SMEYAl 57 HXE | 3962 = 816.0 2.0  =XX
198 | SMEYA 7 XS 4671 =1 535.0 535.0 =X[X|Y
109 | SAMZYA| 2T HXS | 468 =t 1,273.0 = 1,273.0 =X|X|¢
200 | SAMEYAl =T MRS 469 =t 155.0 155.0  =X[X|A




A =X R XS M) BUYMm)  8ZAd | blD
201 | BMON ET XS 470 = 1,507.0  1,507.0 ‘=X|x|od
202 | BATOA 57 XS 471 =) 2,268.0 2,268.0 ‘=XIX|of
203 | BATOA 5T YXES 472 =) 2,063.0  2,063.0 ‘SxIX|%
204 | BNTOA 5T YXES 473 =) 459.0  459.0 ‘mxIX|Y
205 | BMN ST NS 4731 = 2500 2520 ‘=Ax|%
206 | SAMYA| BT HAE 474-1 = 244.0 2440 @ ‘=X|X|o
207 | SAHAl ST MRS 476 et 81.0 81.0  ‘=xXx|
208 | BATOA 57 MXIES 4761 =) 673.0  673.0 ‘SxIX|Y
209 | BMTOM 57 XS 477 o 3040 3040 ‘sxIx|
210 BNTOA 5T YXES 478 =) 1,509.0  1,509.0 =XIX|
211 SHEAA =57 RS | 4781 =1 631.0 631.0 =X|X|A
212 | 2NN ST HAS 4782 | E 78.0 78.0 | =x|x|od
213 | 2NN ST HAS 4783 | E 20.0 200 =xx|%
214 | SMLYA| 27 MAIE | 478-4 = 656.0 656.0 @ =x|x|od
215  BNTOM 57 YNS 4785 | E 2340 2340 ‘=XIX|Y
216 BATOM 57 YNS 4786 | E 10.0 100 SXIx|
217 | 2NN ST HNES 4787 | E 11.0 11.0 | =x|x|ef
218 | 2NN =T HAS 4788 | E 2790 2790 =XX|H
219 BATSA 57 KIS 479 =} 799.0 | 799.0 ‘=xx|%
220 | BATOA 57 HXIS 4791 =) 186.0  186.0 =X




b EX| R K| x| A= CHEEE(w) | HHEA(m)  ZXY H| 11
221 SMYA =7 RS 480 = 275.0 275.0  =X[X|H
222 | 2AEYA 27 HAS | 4801 = 227.0 227.0 =X|X|Y
223 | SAYYA ST HAS | 481 =) 145.0 145.0 | SX|X|A
224 | AT BT HAS 482 = 1,724.0 = 1,724.0 SXX|Y
225 | M| 2T HAE | 482-1 = 157.0 157.0  SX|X|A
226  2EHA =7 YRS 483 =1 681.0 681.0  =X|X|Y
227 | 2MEYA ST HAE | 484 = 109.0 109.0 | SX|X|A
228 | SLHEYAl 57 HXE 485 =1 1,012.0 1,012.0 | =X|X[Y
229 | SATAl B MRS 486 = 340.0 340.0  SX|X|Y
230 | SAA B MRS 487 = 31.0 31.0  =x|x|o
231 | 2MYA ST HAS | 4871 =t 319.0 319.0 S=X/X[Y
232  SMYA =7 HAS 488 =1 648.0 648.0  =X[X|¥
233 S =57 FAs 489 =1 270.0 270.0 | =SX[X|H
234 | 2MTA BT MRS | 489-1 = 1,277.0  1,277.0  SXX|Y
235 | SAAl B MRS 490 f 413.0 413.0  SX/X[
236 SN =7 HAES 491 =1 559.0 550.0 | =X|Xx|d
237 | BMYA ST HXS 492 X 688.0 688.0 =X|X|
238 S =57 FAs 493 ™ 327.0 327.0 | =KX
239 | 2MYA ST HAE | 494 = 63.0 63.0 SX|X|
240 | SN BT HAE 495 =1 724.0 724.0 | SX|X|A




A =X R XS M) BUYMm)  8ZAd | blD
241 SMNEYA ST HAIE | 496 | 317.0 317.0 SXIX|Y
242 | BMEYA ST MRS | 497 = 367.0 367.0 ‘=X|x|o
243 | 2N =T HAIS | 498 = 122.0 122.0  =XXA
244 | SN ST MRS 499 =1 63.0 63.0 = =X|X|H
245 2N =7 HXs 500 =1 179.0 179.0 @ =X|X|
246 | SMFYAl 5T HAE | 501 =1 1,488.0 = 1,488.0  SX[X|Y
247 | SLHEYA 5T XS 502 =1 179.0 179.0 | =X|X
248 | 2N =T MXE | 503 = 1,261.0 | 1,261.0 = =X[X|Y
249 | BMEYA =T MRS 504 =t 264.0 264.0  =X|X|
250 | SAMEYAl =T MRS 505 = 2,033.0  2,033.0 =X|X|
251  SMHYA 57 F¥AE | 506 = 1,309.0  1,309.0 =X|X|¥
252 SN 87 ¥XE | 507 = 40.0 40.0 ‘=X|x|
253 | AL 27 MAE 508 = 63.0 63.0 =X|x|
254 | MY =T MRS 509 = 205.0 205.0 =XX|Y
255 | 2MEYA =T MRS 510 olot 99.0 99.0 =X|X|H
256 | 2MFYAl =T MRS 511 ﬁ 754.0 754.0  =XX|Y
257 | SMFYA 57 HXE | 512 olot 268.0 268.0 =X|X|
258 2N =7 HAS 513 =1 1,144.0  1,144.0  SX|X|A
259 | SMEYA 5T HAE | 514 = 1,765.0 = 1,765.0 = =X|X|
260 2N =T MRS 515 olot 179.0 179.0  =XX|A




He EXI ] Al X2 () | HYHMm) 8K | 6D
261 | SMZYA ST HXS 516 olof 129.0 129.0  =X[X|A
262 | SMYA ST HAS 517 = 754.0 754.0 @ =X[X|A
263 | SMTYA ST XS 518 e 922.0 922.0  =X|X[
264 | SAYA ST HAS 519 e 661.0 661.0 = =X|X|<
265 | SAYAl ST MRS 520 = 126.0 126.0 ‘=X|X|
266 | SATYA ST XS 521 H 595.0 595.0 @ =X[X|A
267 | SMTYA ST XS 522 H 674.0 674.0 SX|X|
268 | SMYAl ST RS 523 e 238.0 238.0 =X|X|
269 | SMYYHAl =7 RIS 524 =1 1,127.0 = 1,127.0 | SX|X|HA
270 | SMYA ST RS 525 = 46.0 46.0 | SX|X|
271  SMLYA ST HXS | 526 =) 1,339.0  1,339.0 SX[X|
272 | SMA| ST MRS 527 = 83.0 83.0 | ‘=x|x|od
273 | SMTYA ST XS 528 =) 1,706.0 = 1,706.0 = SX|X|
274 | SMYA ST HRS 529 = 2,0563.0 | 2,053.0 SX|XY
275 | SMYAl ST HAS 530 =By 641.0 641.0 =XIX|
276 | SAYAl ST HAS | 53 = 284.0 284.0 = =SX|X|
277 | SMTYA ST XS 532 =) 1,385.0  1,385.0 SX[X|
278 | SMTYAl ST XS 533 H 721.0 721.0 | =X[X|A
279  SMTYA ST HXS 534 H 235.0 235.0 SX|X|Y
280 | SAYAl ST RS 535 X 231.0 231.0 =X|X[




o1 EX| AKX x| A= HEHE(y) | BHUHEM(w) | 22X H| T
281 SAYSA| 2T HAE 536 = 212.0 212.0 | =X[X|Y
282 | SAYA| 27 HAE 537 CH 645.0 645.0 | =X[X|HA
283 | SAIYA| 27 MAE | 537-1 EEX| 435.0 435.0 | =X[X|A
=g
284 | SAEYA| 7 MAE | 537-2 | 325.0 325.0 | =X[X|A
285 | SAYA| 81 HAls 540 =t 251.0 251.0 | =X[X|H
286 | 2AHUYA| 27 MRS 541 | 354.0 354.0 | =X[X|HA
287 | SAMUYA| 27 MRS 542 | 476.0 476.0 | =X|X|
288 | SAILYA| 27 M= 543 = 456.0 456.0 | =X[|X|HA
289 | SAILYA| 2T M= 544 CH 50.0 50.0  =SX|X|A
200 | SAEYA 27 HAE 545 | 238.0 238.0 | =X[X|A
291 SMZA 27 HAE 546 | 238.0 238.0 = =X[X|Y
202 | SAMUYA| 27 M= 547 = 271.0 271.0 | =X[X|Y
=N
293 | SAYA BT MRS | 548-1 | 1,365.0 1,365.0 @ =X|X|A
=N
294 | SAIYA| 27 HAE | 548-2 x| 1,521.0 1,521.0 | =X|X|A
205 | SAYA| 27 HAE 549 | 1,116.0 1,116.0  =X|X|HA
206 | SAMUA| BT HAE | 549-1 | 9.0 9.0  =X[X|A
297 | SMEAA| BF HXS 549-2 | 20.0 20.0 =X[X[A
208 | 2AYAl B MAls  550-4 =2 164.0 148.0 @ =X|X[A
209 | SAMUYA| 27 MAE | 5511 =) 37.0 37.0  =XXA
300 | SARUYIA| B HAE | 551-3 Ly} 178.0 49.0  =X[X[HA




He SRR R X2 | R | HUWEAM)  BEX | w1
301 | 2L 27 HAS 552 = 479.0 20  ‘=XX|A
302 | 2MFYUAl =T HAIS | 5561 c=2 30.0 30.0 =X|X|H
303 | 2MFYAl 2T HAE | 556-3 c=2 79.0 40.0 = =X|X|H
304 | SMHYA 857 s 5571 E=2 271.0 2711.0  =X[X|Y
305 | SAMHYA 27 MAE  558-1 = 92.0 6.0 ‘=X|x|A
306 | SAEYAl ST HAIES | 558-2 = 1,473.0 126.0  SX[X|A
307 | SMFYAl ST HAE | 5611 £z 317.0 317.0  SXIX|Y
308 | 2MFYAl 2T HAE | 561-3 c=2 7.0 7.0 | =X|X|H
309 | 2MFYAl =T HAIZ | 561-4 c=2 40.0 40.0 = =X|X|H
310 | 24U =7 HAIS | 562-1 = 596.0 506.0 =X|X|
311 | SMFYA 5T HAIE | 562-2 £z 111.0 111.0 | SXXA
312 | SMFYA 5T HAIE | 562-3 £z 116.0 116.0  SX[X|A
313 | SMFYA 57 HAIE | 562-5 2 68.0 68.0 = =X|X|
314 24U =7 HAIZ | 562-6 = 4.0 4.0  =XX|H
315 | 2MFYA =7 MRS 562-7 c=2 21.0 21.0 | =X|X|H
316 | 2MZYA =T MRS 562-8 c=2 10.0 10.0 | =XXY
317 2N =7 HXs 563 = 747.0 747.0 @ SXXA
318 | SMZYA 27 MRS 5641 £z 26.0 26.0 =X|x|
319 | SMFYA ST HAIE | 564-3 g2 100.0 440 | SXX|
320 | SMEYA B7 HAIS | 5851 ﬁ 48.0 48.0 = =X|X|H




oA EX| 2R K| x| A2 | EEE(r)  BHAMM(m) | BEXY | 6D
321  SAEeA 2R MRE 5852 0 0ER 162.0 2.0 ‘=x|x|o
322 SAA BT MAE 585-3 @ 0 0E= 340.0 260.0 @ =X|X|
323  SAA| BT MAE 585-4 @0 T2 224.0 84.0  =X|X|
324 | SAA| 27 MAE 586-1 S 14.0 14.0  SXXY
325 | SAMA| 27 MRS 588-1 S 705.0 669.0 = =X|x|
326 | SAMYAl 27 MRS 506-1 = 394.0 394.0  ‘=X|X|
327 | 2ATA 27 HAE | 5971 = 903.0 651.0 =X|X|
328 | SAA| 27 MAE 508 S 380.0 380.0 @ =X|X|
329 | SAYA 2T MRS | 599 IS 202.0 202.0 =X|X|
330 | SAEYA BT XS 600 = 595.0 595.0  =X|X|
331 | SAYA 2T HRE 601 IS 139.0 139.0  ‘=X|x|of
332 | SAEAl BT ERE 602 = 1,514.0 260.0 | =X|x|
333 SAA| 27 MRS 605-1 = 1,376.0 860.0 | =X|x|
334 | SAYA 2T HAE | 606 cf 296.0 1.0 | =X|x|o
335 | SAA| 27 MAE 606-1 = 706.0 446.0 @ =X|X|
336 | SAEYA 2R MAE | 607 = 2,142.0 | 2,130.0 =X|X|
337 | SMEYA 27 HAS 608 cf 109.0 109.0  ‘=X|X|of
338 SAHYAl 27 MRS 609-1 = 2,350.0 = 2,350.0 @ =X|X|
339 | SAeAl 2T MRS 609-2 cf 271.0 271.0 | ‘=X|X|
340 | SAA 2T HXE 611 olof 46.0 46.0 | =X|X|
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odd EX| AT [ A2 EEE(y) | HYHH(m)  8Txe | H|m
361 | BMWYA 2T EXE 6248 @ E= 69.0 43.0 | =X|x|<
362 | SMHYA 2T HXE | 624-9 M 62.0 62.0 =X|X|o
363 | SMHOA 27 MAE 626 SHH 5,697.0 33.0 =X|X|
364 | SMHA 27 MXE  626-10 | 5HA 26.0 26.0 =X|x|
365 | SMWYA 27 XS 626-11 | EEX| 25.0 25.0 =x|x|of
366 | SAMOA| 27 HAE | 626-12 | BFA 1,191.0  1,191.0 ‘sx|x|
367 | SAoA| 27 HXE | 626-2 | GHA 8.0 8.0 ‘sx|X
368 | SAWYA 27 MXE  626-3 | HA 26.0 26.0 =X|x|
369 | SAHYA 27 MXE  626-4 | HA 237.0 237.0 | =X|x|
370 | SMHA 27 HXE 6265 | AEX| 82.0 82.0 =X|X|o
371 | SAZoA| 27 MK 626-6 | SHA 705.0 705.0  =X|X|o
372 | SMEoA| 27 MXE | 626-7 | M 158.0 158.0  ‘=X|X|2
373 | SAZoA| 27 MK 626-8 | M 72.0 72.0 =X/
374 | SN 27 HXE 626-9 | BHA 542.0 542.0 =X|X|of
375 | SMmeA 2R MRE 627 == 323.0 23.0 =X|X|o
376 | Ao 27 HNE  627-1 | EEX| 13.0 13.0 | =Xx|
377 SN 27 ENE 6272 | EEX| 22.0 200 | =x|x|ed
378 | SN 2T EXE 6273 @ E= 208.0 208.0 ‘=X|x|d
379 | SN 27 ENE 6274 | EEX| 5.0 50  =xx|
380 | SMHYA 27 XS 6275 | AEX| 17.0 170 | =xx




AtH EX| K| X[ = CHEHEA () | HAHM(w) | XS Bl
381  SATA 27 HAE 627-6 == 18.0 18.0 =X|x|d
382 | 2MFYAl BT HAZ | 627-7 c=2 52.0 52.0  =X|X|Y
383 | 2MFYAl =T MRS 628-1 | TBX| 1,012.0 = 1,012.0 =X/X|¥
384 | 2MFYA =T MRS 628-3 | TBX| 841.0 841.0 =XX|Y
385 | SAEYAl ST HAE | 629 2 99.0 99.0 =XK<
386 | SMHUAl =T HAE | 629-1 | EEX| 13.0 13.0  =X|X|d
387 | SMEYAl 5T HAE | 630 2 85.0 85.0  SX|X[
388 | 2MFAAl =T HAIS | 6301 c=2 129.0 129.0  =X[X|A
389 | 2MFYAl 2T MRS 630-2 = 50.0 50.0  =XIX|Y
390 | S0l 5T MRS 631 ClFs! 136.0 136.0  =XX|A
391 | SMFYUA 57 HAE | 632 A 331.0 331.0 SXIXY
392 | 2MFYAl 57 HAE | 633 2 235.0 235.0 SX|X|Y
393 | SMFYA ST HAIE | 634-2 2 855.0 440 | SXX|
394 | SN =T MRS 636 = 902.0 902.0 =XX|Y
395 | SMHEYA 27 HAls | 714 oH 7,427.5  7,427.5 =X[X|4
396 | 2Nl =T HXE | AO-3 iﬁg 5,972.0 30.0 =X|X|H
397 | SMFYAl 5T HAE | LHM0-4 olot 263.0 263.0 SXIX|Y
398 | SMFYAl 57 HAZ | AHO-16 | lof 166.0 166.0 SXIX|A
399 SN S HXE | A4 ol o} 1,582.0 551.0  =X|X|A
400 | BMZUAl =T MRS AR24-2 olot 200.0 30.0 =X|X|H




ol EX|ATHR| x| X2 CHEEHE(w) | BHAWES() 8EXY | H[Z
401 SMEA ST HRE | A24-4 el ok 286.0 286.0 =X|X|Y
402 SMIYA 2T HRE | A24-5 elof 200.0 151.0 | =X[XY
403  SMEYA 2T HRE | A24-6 elof 1,697.0 521.0  =X[X|Y
404 SN 2T HRE | AR5 2lof 17,158.0 | 17,158.0 | =X|X|
405 | SAYYAl 57 HXks | Ak25-1 2lot 177.0 12.0  =XXY
406 | SMZYA 27 HAE | AR25-3 olot 16.0 16.0 | =X[X|Y
407 2NN 27 HRE | A25-4 2lof 70.0 6.0  =X|X|A
408  SMIYA ET HRE A6 elof 571.0 571.0  =X[XY
409 | SMEA 2T HAE | A6 elof 1,435.0  1,435.0 SX(X|Y
410 SAEA 2T HAE | A26-2 elof 1,743.0  1,743.0 S=XX|Y
411 S9N 57 FRs | L126-3 2l of 1,954.0  1,954.0 SX|[X[A
412 2MYYHA 27 HRs | AR26-4 olot 1,110.0 1,110.0 | =X|X[
413 SAYYA 57 FAks | 4265 2lof 870.0 870.0 =X[X|Y
414 SN 2T HRE | A26-6 elof 90.0 90.0 =X|X|<
415 S 2T HRE | A26-7 elof 571.0 571.0  =X[XY
416 | SMEA 2T HAE | A26-8 elof 241.0 241.0  =X|X|
417 | SN 57 FHRS | AR26-9 2l of 241.0 241.0  =XX|H
418 SN S FXE | AM26-10 | 2ok 992.0 992.0 =X|X|Y
419  SNZYA =27 HRE | M27 2lof 22,506.0 | 22,506.0  =X|X|
420 | SAEA 2T HRE | A7 ShH 149.0 149.0 | =X[XY




il EX|2XY K] x| A= CHEHEA () | HHH(w) | XY H|2
421 SAYYA 57 Hiks | Q272 A 31.0 31.0  =XXY
422 SMEA 2T HAE | AR7-3 elof 35.0 35.0 =X|X|4
423 SN 2T HRE | A27-4 elof 3,650.0  3,650.0 =X[X|
424 SMIYA 2T HRE | AR27-5 elof 6.0 6.0 | =X|X|
425  SAYYA 57 Hiks | A28 2X| 7,858.0  7,858.0 =X[X|H
426 SAYYA 57 FRkE | A9 elot 6,594.0 = 6,594.0 =X|X|A
427 SN ST FXE . AR30 elof 8,849.0  8,849.0 =X[X|4
428  SMEA 2T HAE | ARB0-2 elof 402.0 402.0 =X|X|<
429 | SMIA 2T HAE | ARB0-T elof 103.0 103.0 | =X[XY
430 | SAEA 2T HAE | ARB0-3 elof 164.0 164.0 | =X[X|Y
431  SAYYA 57 FAks | A30-4 2lot 695.0 695.0 =X[X|H
432 SN ST HXE | A30-5 2lof 1,313.0  1,313.0 SXIX|Y
433  20EYA ST HRE | AR olot 1,372.0 1,372.0 | =X|X[
434 SMEA 2T HRE | AR31-T olok 116.0 116.0 | =X[XY
435  SMIYA 2T HRE | AR32 elof 8,616.0  8,616.0  =X|X|
436 | SAEA 2T HRE | A3 elof 315.0 313.0 =X|X|<
437 SN BT HRE | AB2-2 olot 455.0 455.0 =XK1
438 SN 27 HRE | A32-3 elof 7.0 7.0 =X|XH
439 SN ST HRE | A32-4 2l ok 2.0 1.0 =X[XY
440  SMIA 2T HRE | AR33 elof 3,306.0  3,306.0 =X[X|




o EX|ARY K] x|t X2 EREE(y) | HYHM(y) 22X H|D
441 SN 5T BRI L33 olot 263.0 263.0 =X|X|Y
442 | MU =7 HXIS | A33-3 elof 131.0 131.0  =X[XA
443 | SN =T MRS A33-6 elof 2,523.0 2,523.0 SX[X|
444 SN ST RIS A33-7 elof 1,203.0  1,203.0 =XX|Y
445 | SMFHA 57 MRS | AI33-8 elof 100.0 100.0 = =X[X[A
446 | SN ST HRIE | A34 elof 463.0 463.0 =X|X|Y
447 SN 5T BRI L34 elof 23.0 23.0  =XX|H
448 | MU =T MRS A34-2 elof 1,653.0 = 1,653.0 = =X[X|Y
449 | SMZAA =T MRS A34-3 elof 1,653.0 = 1,653.0 = =X[X|Y
450 | SMZYAl ST MRS A34-4 elof 6.0 6.0 =X|X|H
451 SMYA 57 FXS | L4345 2ot 3.0 3.0 | =XXYH
452 | 2UEYA ST YN 434-6 | of 1,653.0  1,653.0 =X|X[|H
453  SMYA BT YRS | A34-7 2lof 1,653.0 1,653.0 | =X|X[
454 | MU =T MRS AE34-8 elof 50.0 50.0  =XIX|Y
455 | SMZYAl ST MRS A34-9 elof 529.0 529.0 =X[X|Y
456 | SMTYAl ST MRS | M34-10 | 2ok 14.0 14.0 | =XXY
457 S 57 HXE | 413411 elof 4,621.0  4,621.0 =X[X[A
458 | SHHYYA 57 HAls | M34-12 | ok 1,650.0 = 1,650.0 =X[X|
459  2MHYA 57 HAE | AR34-13 olot 1,603.0 1,603.0 | =X|X[
460 | SMYAl ST MRS | M34-14 | 2o} 1,110.0  1,110.0 =XIX|Y




o3 EX| AR x| XS | hEEN(m) HYENm) S=XY | H|D
461 20N 27 YRS AR5 olot 28.0 28.0 =X|XA
462 SMEYA 57 ¥AE M35-2 | 2oF | 14,835.0 14,8350 =X[X|Y
463 | SMEYA BT HAs | AR36 2ot 2,859.0 = 2,859.0 =X|X|A
464 | SMEYA BT HAE | AI36-1 2l ok 55.0 55.0 | =X
465 | SALOIA| BT HAE | AR3E-2 o | 20,726.0 20,726.0 =X|X|¥
466 | SMEYA ST HAE | 4186-3 | 2ok 240.0 240.0 = =X|X|<
467 2NN 27 HRE | AR36-4 olot 4,492.0 @ 4,492.0 =X|X|A
468 | SMEYA BT MAE A1B6-5 | of 758.0 758.0 =XIX|Y
469 | SMEYA BT MAE A1B6-6 | of 6,225.0 = 6,225.0 =X|X|A
470 | SMEYA BT MAE A1B6-7 | of 410.0 410.0 | =X[X|
471 SMEYA BT HXE | 4186-8 | 2ok 2,598.0 = 2,598.0 =X|X|A
472 SMEYA BT HXE | 4186-9 | 2lof 343.0 343.0 | =X[X|Y
473 | SMEYA 5T HXE | 43610 | 2ok 22.0 22.0  =X|XH
474 | SMEYA BT MRS A36-11 | of 600.0 600.0 = =X[X|<
475 | SMEYA BT HIE | AR37 2ot 1,349.0  1,349.0 =X|X|H
476 | SMEYA BT HIE | A7 2lof 35.0 35.0 =X|XH
477 SN ST EAE | L37-2 2o} 12,842.0 | 12,842.0 =X[X|¥
478 | 2t ST EAE | AR37-3 2l of 452.0 452.0 =XK<
479 | SMEYA BT HAE | AR38 ol o} 1,653.0  1,653.0 =X|X|
480 | SMEYA BT MAE 1882 | of 63.0 63.0 =X|X|H




o3 EX| AR x| XS | hEEN(m) HYENm) S=XY | H|D
481  SiYA 57 FRS | L138-3 2l of 747.0 747.0  =X|XH
482 SN 2T HRE | A38-4 elof 3,306.0 = 3,306.0 =X|X[
483 SN 2T YRS AR38-5 elof 1,653.0 = 1,653.0 = =X[X|Y
484  SMIA 2T HRE | A38-6 elof 2,490.0  2,490.0 =X[X|
485 | SAYYAl 57 HAks | A38-7 2lot 1,984.0  1,984.0 =X[X|H
486 | SMFUAl 57 HAIs | AI38-8 2l ok 1,951.0 1,951.0 SXIXY
487 | SMFYAl 5T HAIES | AK38-9 elof 2,900.0 = 2,900.0 =X[X[H
488  SMEAl 27 FAE | A38-10 | ok 992.0 992.0 =X|X|<
489  SAEAl 2T HAE | AR38-11 elof 661.0 661.0 =X|X|
490  SMEAl 27 FAE | A38-12 | 2ok 3,306.0 = 3,306.0 =X[X[
491 SN 57 F¥XE | A38-13 | lof 1,653.0 = 1,653.0 = SX[X|Y
492 SN 27 HAls | A38-14 olot 1,445.0 1,445.0 | =X|X[
493  2MHYA 57 HYAE | AR38-15 olot 2,407.0 = 2,407.0 =X|X|A
494 SN =27 HAE | AM38-16 | 2ok 152.0 152.0 | =X[XY
495  SMEA 27 FRE | AM38-17 | 2ok 406.0 406.0 =X|X|
496 | SAIYA 2T MRS AR39 elof 1,001.0  1,001.0 SXX|Y
497 SN ST HXE | A3 A 261.0 261.0  =X|X|Y
498 SN EF HAIE | AB9-2 elof 1,001.0  1,001.0 SXIX|Y
499 | SMFYUA 57 MRS AI39-3 elof 1,653.0 = 1,653.0 = SX[X|Y
500 | SAHYAl 2T HAE A39-4 elof 1,653.0 = 1,653.0 = =X[X|Y




A EX| 2R K] x| A= CHEHEA () | HHH(w) | XY =[]
501 | SAHYYAl ST MXE | AK39-5 elof 3,103.0  3,103.0 SX[X|
502 | SAYYAl 2T MRS A39-6 elof 1,001.0  1,001.0 SXX|Y
503 | SAYYAl 2T MRS AR39-7 elof 1,001.0  1,001.0 SXX|Y
504 | SAYYAl 2T HXE 4AMO olof 3,306.0  3,306.0 =X|X|
505 | SAYAl 27 HAE | AMO-1 A 57.0 57.0 ‘mX|x|od
506 | SAZAA S HXE | AM0-2 | 2ot 7,504.0 @ 7,504.0 =X|X|
507 | S0HYYAl =T HXE | A1 ol ok 2,479.0  2,479.0 SX[X|4
508 | SAHYA| 2T MRS A2 elof 2,380.0  2,380.0 =X[X|
509 | SAHYA| 2T MRS AHM3 olof 8,430.0  8,430.0 =X|X|
510 | S4HYA| 27 MRS | 431 olof 99.0 99.0 =X|X|<
511 | SMMA 27 RS | AM3-2 | Qlof 99.0 99.0 =X|x|od
512 | 2MZeA 27 XS AM3-3 | 2ot 99.0 99.0 | =X|x|od
513 | S0HYAl 57 HXE M4 olot 15,074.0 = 15,0740 SX|X|Y
514 | SMZYA 2T MRS M5 elof 1,653.0  1,653.0 XX
515 | S0HYA| 27 MRS | A5 7 209.0 209.0 =X|X|<
516 | SAYYA| 27 MRS AH45-2 elof 1,653.0  1,653.0 =X[X|Y
517 | SMZYAl 57 MAts | AH45-3 elot 1,685.0  1,685.0 =X[X|H
518 | SAHUYAl E7 MXE | AH45-4 elof 3,306.0  3,306.0 SX[X|
519 | SMHUYA| ST MXE | AM5-5 elof 3,306.0  3,306.0 SX[X|
520 | SAYYAl 2T MRS M6 olof 298.0 298.0 =X|X|




A =X R XS M) BUYMm)  8ZAd | blD
521 | SAMYA 27 MRS AM7 ol o} 1,323.0  1,323.0  =X|x|
522  SMIYA| ST MRS A7 olot 680.0 680.0 =X|X|
523 | SMYA| ST MRS | A47-2 olot 2,645.0  2,645.0 =XK<
524  SMEYA| ST MRS | AH47-3 olot 5,821.0 | 5,821.0 =X|X|<
525 | SMYYAl 57 MAE | AM4T7-4 elot 1,653.0  1,653.0 =X[X|H
526 | SMYYA 57 MRS | 4475 elot 1,653.0  1,653.0 =X[X|H
527 | SMEYA 57 XS | LHMT7-6 2lof 992.0 992.0 =X|X|YA
528  SMEYA| BT MRS | AM47-7 elof 1,008.0  1,008.0 =X[X|Y
529 | SMYA| ST MRS | AH47-8 elof 1,653.0  1,653.0 =X[X|Y
530  SMEYAl =T MRS | A47-9 olot 1,250.0  1,250.0 =X[X|Y
531 | SMYA| 57 HAlE | AM7-10 | @lof 5,620.0 = 5,620.0 SX[X|<
532 SMHOAl ST MRS M8 2lof 496.0 496.0 =X|X|o
533 | SAEYAl ST MAS | 4AHM9 olot 3,137.0  3,137.0 SX[X|4
534  SMIYA| ST MRS AH9-1 elof 3,805.0  1,903.0 =X[X|
535 | SMYA| ST HAE | A0 elof | 21,357.0 | 21,357.0 SX[X[A
536 | SMYA| ST HAKE | AH50-1 c=2 669.0 658.0 =XIX|Y
537 | SAEYAl ST FHXE M504 olot 393.0 393.0 SXIX|Y
538 | SAHEYA| ST FHXE  AB0-5 g2 687.0 358.0 SXIX|Y
539 | SAEYAl BT FAE A5 olot 1,653.0  1,653.0 =XIX|Y
540 | SMYA| ST MRS A5 elof 220.0 220.0 =X|X|Y




o3 LZESNIN x| XS | hEEN(m) HYENm) S=XY | H|D
541 | S4HYA| 57 HAls | AB1-2 olot 2,453.0 = 2,453.0 =X|X|A
542 | SMYYA| 2T MRS AH51-3 elof 320.0 320.0 =X|X|<
543 | SAYYA 2T MRS A51-4 elof 215.0 215.0 =X|X|
544 | SMYYHAl 2T MRS A51-5 elof 230.0 230.0 =X|X|<
545 | SMYYAl 57 MRS | AM51-6 elot 1,653.0  1,653.0 =X[X|H
546 | S0HYYA| =7 HXE | A2 2lof | 30,942.0 30,9420 SX[X|A
547 | 20HYYA| 7 HXE | B3 elof 486.0 486.0 =X|X|Y
548 | SAHYA| 2T MXE | A3 c=2 24.0 24.0  =X|X|
549 | SAYYA| 2T MRS AH53-2 elof 1,275.0  1,275.0 =X[|X|Y
550 | SAMYAl 2T MRS 454 elof 1,654.0  1,654.0 =X[X|Y
551 | SMHYYAl 57 MAls | Ak54-1 2 1,123.0  1,123.0 = =X|X|4
552 | SMHYYAl 5T MAls | A54-2 olof 813.0 813.0 =X[X|Y
553 | SMHYYAl 5T MAtE | AH54-3 elot 1,422.0 @ 1,422.0 @ =X|X|4
554 | SAYYA 2T MRS A54-4 olok 1,654.0  1,654.0 =X[X|Y
555 | SAYYAl 2T MRS A54-5 olok 1,657.0  1,557.0 =X[X|Y
556 | SAYYAl 2T MRS A54-6 elof 1,855.0  1,855.0 =X[X|Y
557 | SMEYAl 57 MRS | AM54-7 elot 1,422.0 @ 1,422.0 @ =X|X|4
558 | SMHYYAl 5T MAls AH54-8 elot 1,655.0  1,655.0 =X[X|H
559 | SMHYYAl 57 MRS | AM54-9 elot 1,655.0  1,655.0 =X[X|H
560 | S4HYYA| 2T MXE | AB4-10 | lof 1,653.0  1,653.0 =X[X|Y




e EX| 2K x| XNE EEN(w)  HAHEMm) B2 H|Z
561 | StHHA 57 YXs | Lh54-11 elot 992.0 992.0 =X|X|H
562 | SLHYAl ST HAS | 455 2l of 198.0 198.0 = =X[X[|
563 | 2LHEYAl ST HAS | 456 2l of 2,888.0 2,888.0 = =XA[X[|
564 | SAYYA| 27 MRS AE-1 £z 1,121.0 = 1,121.0  =X[X|
565  SMYA ST HAE | 4562 elof 14.0 14.0 | SXX|H
566  2LYAl ST YAE | 4156-3 =2 286.0 162.0  SX[X|Y
567 | 20 ST MRS A56-4 olof 200.0 200.0 SX/X[Y
568 | SLHEYA ST HAES 4571 2ot 21,223.0 | 21,223.0 =X|X|Y
569 | SLHEYAl 57 S L57-2 2ot 1,488.0 1,488.0 = =X[X[|
570 | SARYA| 27 RS A58 ol o} 397.0 397.0  =X|X|Y
571  2M9A ST ¥Xs | 4459 elof 397.0 397.0 =XIX|H
572  SMAA ST HME | 460 elof 3,335.0 = 3,335.0 =X|X[H
573 | SALYA| 27 XS AH0-1 olof 3,329.0 | 3,329.0  =X|x|
574 | 2AZYA ST HXES | AB0-2 | ot 3,323.0 = 3,323.0 SXIXA
575 | SLHYAl 57 HAES 4160-3 2 of 1,333.0 1,333.0  =X[X[|¥
576 | 2LtHYAl 57 HAS | LH60-4 2 of 1,672.0 1,672.0 = =X[X|¥
577 | 2tHEYA 57 XS | &60-5 2l oF 3,395.0 3,395.0 =X[X|H
578 2 =T YRS L60-6 elof 1,655.0 = 1,655.0 =X|X|
579 SN ST YRS &60-7 elof 3,443.0 = 3,443.0 =XX[H
580 | SLHYAl 57 HAS  4160-8 2ot 1,984.0 1,984.0  =X[X|¥




A =X R XS M) BUYMm)  8ZAd | blD
581 | BATOA| 27 MXES  A60-9  2oF | 1,653.0 1,653.0 =XIX|
582 | BATOA| E7 KIS AG0-10  2oF | 1,655.0  1,655.0  mAIX|S
583 sAmeA 27 FAE  Al6T ok 2080 2080 =xIx|Y
584 | BATOA EP XS 62 | 2o | 1,983.0 1,983.0 =AIX|S
585 | SMEeAl 27 EXE  AM63 | olof | 1587.0  1,587.0  ‘s|x|of
586 | SMEoAl 27 EXE 64 2lof | 248500 24,8500  =x|x|of
587 | eAEoll 27 HNE  AM6a-1 | flof | 23240 23240 =[x
588 Siimel =7 NS A5 elof | 19830  1,983.0 x|x|of
580 | BAFOA| E7 XS A65-1 | 2oF | 3,306.0 3,306.0 =AIX|f
590 | BATYAl 27 HAES  Al65-2 ok 331.0 3310 =xIx|Y
591 | BAFOA| 57 MXS  A65-3 | 2oF | 1,653.0 1,653.0 =AIX|
592 | SMEeA| 27 EXE  A65-4 | 2lof | 16530 1,653.0 s|x|of
593 | BAEOA BT XS A66-1 | oF | 21,1520 21,1520 =KX/
594 | SMEeA| 27 MAE  AE6-2 | 2lof | 1,653.0 1,653.0 s|x|od
595 | BAFOA| E7 XS Al66-3  2oF | 3,306.0 3,306.0 =AIX|S
596 | BATOA| E7 XS Ae6-4 | oF | 1,721.0  1,721.0  SAIX|
597 | SMEeA| 27 EXE  A66-5  2lof | 25150 25150  =X|x|of
598 | SMEeA| 27 EXE  AG6-6  200F | 16530 1,653.0 =[x/
599 | SMEeiA| 27 EXE A7 | 2oF | 16510 1,651.0 sX[x|of
600  BATOA 57 YXS  Al66-8 | UOF | 2,646.0  2,646.0 SXIX|




oAt EX| 2R X]| x| A= CHEEE(w) | HHEA(m)  ZXY H| 1
601 SHYAA 57 FAts | LA66-9 2l of 1,851.0 1,851.0  =X|X|Y
602 | StHEYA 57 X | &66-10 2lof 1,653.0 1,653.0 | =X[X[Y
603 | StHEYA 57 HXE | 46611 lof 992.0 992.0 | =X[X[Y
604 | SLEYA 57 HXE | A66-12 elok 1,322.0 1,322.0 | =X[X[Y
605 | SHEYA 57 FXs | 466-13 2l of 4,661.0 4,661.0 | =XK<
606 | SHEEYA 57 FXs | A66-14 1o} 1,322.0 1,322.0  =X|X|Y
607 | SHEYA 57 FXs | A66-15 2lof 1,355.0 1,355.0  =X|X|Y
608 | StHEYA 57 XS | A66-16 elok 331.0 331.0 | =X[X[Y
609 | SHEAA 87 HAE 67 2lo} 595.0 595.0 = =X|X|
610 | StioiA =7 HAs  Al68 2l of 198.0 198.0  =x|x|o
611 | SAHYA| B2 ®MAIE | Al olot 551.0 551.0  SX[X[
612 | SHEYA 57 FXs 4691 2lof 1,193.0 1,193.0  =X|X|Y
613 | SAZYA S HAE  AlG9-2 | £E 41.0 41.0  SX|X|
614 | SMNUAl 27 HXE A0 ol o} 1,132.0 669.0 SX|X|
615 SN S7 FXS | A1 2lof 9,124.0  9,124.0 @ =X|Xx|d
616 | SAHUOIA 27 MAE A2 olot 22210  2221.0 SXX|
617 | SHEYA 57 FXls 4721 olof 919.0 919.0 | =X|Xx|d
618 | SHHEYA 57 FXls | LA72-2 2l of 1,653.0 1,653.0  =X|X|Y
619 | SHHEYA 57 Xt 472-3 2lof 1,653.0 1,653.0 =X|X|Y
620 | SLHEIA 57 XS 2473 2lof 1,653.0 1,653.0 | =X[X[Y




A EX|2A X X[ A= oEHN(w) | HYHEH(w) | XY |
621 | SMIYA 27 MAE A3 ol o} 297.0 297.0 | ‘=X|x|d
622 | SMFYUA 57 HAls | A73-2 2o} 3,306.0  3,306.0 =X|X|
623 | SN 57 HAs | A73-3 elof 1,323.0  1,323.0 =X|X[Y
624 | SMEYAl 5T HAIS | AT73-4 2ot 1,653.0  1,653.0 =X|X|Y
625 | SMFYAl 5T IS A73-5 2l of 3,306.0  3,306.0  =X|X|
626 | SMFYAl 5T HAIE | AM73-6 2o} 1,6563.0  1,653.0 =X[X|Y
627 | SMFYAl 57 IS AM73-7 2l of 1,983.0  1,983.0 =X[X|Y
628 | SN BT HXs | AM74 elof 1,785.0 = 1,785.0 =X|X|Y
629 | SMFYUA BT HXs M5 2ot 1,653.0  1,653.0 =XX|Y
630 | SMFYAl BT XIS A75-1 olof 827.0 827.0 =X|X|Y
631 | SMTYA 27 MAE  A5-2 | 2lof 1,024.0  1,024.0  =X|x|
632 | SMFAA EF HXs | A75-3 2o} 1,6563.0  1,653.0 =X[X|Y
633 | SMFYA 5T HAlE | AT75-4 olof 826.0 826.0 =X|X|
634 | SMEYAl 5T IS AT75-5 2ot 1,6563.0  1,653.0 =X|X|Y
635 | S0HYA B7 Msts | 5441 | 213.0 213.0  SXX|H
636 | SAEYA| BT AStE | 554-3 = 468.0 468.0  =X|X|H
637  SHEAA ST tkls 555 =1 1,309.0  1,309.0  =X|X|H
638 S 5T M| 556 =1 744.0 744.0  =SXXY
639 | SMEYA BT Mot 557 = 883.0 883.0 =X|X|
640 | SMFAA 57 Mets | 558 2X| 592.0 592.0 =X|X|¥
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il EX| 2R K] x| A= CHEHEA () | HHH(w) | XY
721 20HYA 7 MBIE | 920-5 = 309.0 309.0 =X|X|Y
722 | SMNYYAl 57 Msks | 920-6 ™ 274.0 274.0  =X[X|A
723 SMIYA| BT MEIE | 920-7 =t 149.0 149.0 | =X[XY
724 | SAYYA| 27 MIE | 920-8 c=2 269.0 269.0 =X|X|
725 | 2HYA| 7 MBIE | 920-9 X 489.0 489.0 =X|X|<
726 | SMHYYA 57 Msks | AH 821 2lof 42410 19220 =KX
727 20HYA £ MElE | AHB2—2 | @lof 3,808.0 3,898.0 SX[X|4
728 | SAYYA| 27 MelE | AH83 olof 363.0 363.0 =KX
729 | S4HYA| 27 MElE | AH 83T 2ot 333.0 333.0 =X|X|4
730 | SAHYA| =7 MElE | AHB3-2 | glof 726.0 726.0 =KX
731 20HYA =7 MElE | AHB3-3 | @lof 363.0 363.0 =X|X|Y
732 | 2MHYYA| 57 MElE . AHB4 elof 2,380.0 2,380.0 SX[X|4
733 SMEYAl 57 Mk AHB85 2lof 5,455.0 @ 5,190.0 =X[X|¥
734 | SMYYA 27 MlE . AH86 2lof | 23,702.0 | 20,479.0 SX[X|A
735 | SHYA| 27 MElE | AH 87T elof 2,315.0 873.0 =X|X|<
736 | SAHYA| =7 MEls | AHE7-2 | 2lof 3,461.0  3,461.0 =X[X|<
737 | SMEYAl 57 Msks | AH92-2 | glof 2,714.0 81.0 =X[X|Y
738 | 2AHYYA| 57 MslE . AHO3 olot 245.0 245.0 SX|X|
739 | 24HYYA| £ MEIE | AHO3-T elof 1,540.0 804.0 =X|X|Y
740 | SAHEYA| 2T MEIE | AH 94 elof 1,380.0  1,380.0 =X[IX|Y




ole EX| 2R | x| X2 oEeE) | HYHHm) | 8EX|
741 20HYA 7 MEIE | AHO94-3 | TA 220.0 220.0  =X|X|Y
742 | SMHEYA| 2T MEIE | AHO4-4 | Qlof 1,198.0  1,133.0 =XX|Y
743 | SMHEYA| 27 MEIE | AHO4-5  @lof 10,071.0 = 3,726.0 =X[|X|Y
744 | SMHEYA| 2T MEIE | AHO4-6 | @lof 160.0 160.0 = =X[X|
745 | SHEAA 57 AMls | AH94-7 2lof 1,653.0 1,653.0 | =X|X[
746 | 20HYYA| 7 MElE | AHO4-8 | @lof 1,653.0  1,653.0 SX|X|Y
747 20HYA 7 MEIE | AHO4-9 | @lof 1,653.0  1,653.0 SXIX|Y
748 | SAYYA 27 MlE . AHO5 elof 8,430.0  8,430.0 =X|X|
749 | SAYYA 27 MlE . AHO6 elof 1,322.0  1,322.0 =X[X|Y
750 | SAHEYA| 27 MElE | AH 961 elof 1,984.0  1,984.0 =XX|Y
751 | 2MZYAl 57 Mk AH96-2 | glof 1,785.0 = 1,785.0 =X[X|H
752 | 2MHEYAl 57 Mk AH96-3 | 2lof 1,752.0 = 1,752.0 | =X|X|4
753 | SMHEYAl 57 Mk | AHO7 2lof 4,463.0 = 4,463.0 =X|X|A
754 | SAYYA| 27 MelE . AHO8 elof 1,653.0  1,653.0 XX
755 | SHYA| 27 MEIE | AH 98- elof 160.0 160.0 = =X[X|Y
756 | SAHYA| 2T MElE | AHO8-2 | 2lof 661.0 661.0 =X|X|
757 | 20HYA =7 MElE | AHO98-3 | @lof 661.0 661.0 =X|X|
758 | 24HYYA| =7 MElE | AHO8-4 | @lof 1,087.0  1,987.0 SXIX|Y
759 | 20HYYA| =7 MElE | AHO8-5 | @lof 3,307.0  3,307.0 SX[X|4
760 | SAHYA| =T MElE | AHO8-6 | 2lof 1,653.0  1,653.0 =X[X|Y




|'O
e

EX| AR x| R A2 | EEN(n)  HUEN(n) | BEX|

761 | SMZYAl 57 Mk AHO8-7 | glof 1,653.0  1,653.0 =X[X|H
762 | SMIYA| BT MEtE | AHO8-8 | lof 1,653.0  1,653.0 =X[X|Y
763 | SMEA| BT MEE | AHO9 elof 9,421.0  9,421.0 =X[X|
764  SMEA| BT MEE | AH200 elof 2,479.0  2,479.0 =X[X|
765 | SMYYAl 57 Mt AH201 2lof 4,873.0  4,873.0 =X|XA
766 | SHREYAl 57 Msts | &R201-1 | 2ok 86.0 86.0  =X|X[H
767 | SEYAl 57 Msks | 4202 2lof 1,455.0 = 1,455.0 =X[X|H

768 | SUHEYAl 57 tels | 42021 2ot 3,305.0 3,305.0 =X|X|H

760 | SMTAA| BT MIE | AR03 oo} 3,967.0 | 3,967.0 =X|X|
770 | SMNTAA 27 MIS | A204-1 | o} 7,470.0 401.0 | =x|x|
771 SNTYA| BT MSIS | AR204-2 | 2o} 2,314.0  2,151.0 ‘=xx|
772 | SMNTYA| BT MSIS | AR204-3 | 2o} 2,314.0  1,328.0 ‘=xXx|
773 | SMNTYA| BT MSIS | AR204-4 | 2o} 2,291.0 901.0 | =X|x|
774 | SMNTAA 27 MSIS | A234-14 | 2o} 1,543.0  1,543.0 ‘sX|x|™

775 | SUHEEYAl 57 Mels | 41285 2/ of 23,136.0 | 13,061.0 =X|X|Y

776 | SUHEYAl 57 Mels | 41236 2/ of 12,397.0 | 12,397.0  =X[X|¥

777 | SAMEYA 2T ASEE | A237 2lof 1,653.0 1,653.0 @ =X|X|A
778 | SMEYA| 2 ABls | A237-1 2lof 1,785.0 1,785.0  =X|X|HA
779 | SAMZYA 2T ABIE | AR237-2 olof 1,322.0 1,322.0  =X|X|A

780 | SUHEYAl 57 Mels | 41238 2/ of 21,124.0  21,124.0  =X|X|Y
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EX| 2| Rl A2 omeis(w) | HYHNm) | SEX

781 SUZAA 57 Mels | 4R239 2lof 1,190.0 1,190.0  =X[X|¥

782 | SUHEYAl 57 Mels | 41240 2ot 3,306.0 3,306.0 =X|X[H

783 | SUHEYAl 57 tels | 42401 2ot 3,306.0 3,306.0 =X|X[H

784 | SUHEYAl 57 Melks | £1240-10 | IO} 3,306.0 3,306.0 =X|X[H

785 | SMEYA| BF ABES | AR240-11 olof 1,653.0 1,653.0 =X|X[HA
786 | SAZYA 2T ABIE | AR240-12 0 Qlof 1,653.0 1,653.0 =X[X|HA
787 | SN BT MEE | AM240-13 1 2ot 3,306.0 3,306.0 =X|X|A

788 | SUHEEYAl 57 Melks | 4124014 lof 3,306.0 3,306.0 =X|X[H

789 | SUHEEYAl 57 Melks | 41240-15 0 lof 3,306.0 3,306.0 =X|X[H

790 | SAEYA 27 ASEE | AR240-16 0 Qlof 1,653.0 1,653.0  =X|X|HA
791 SAZOIA| 27 AMSIE | A40-17 | 2O} 1,653.0 1,653.0 =X|X[|HA
792 | SAMIYA BT ABIE | AR240-2 olof 1,653.0 1,653.0 | =X|X|A

793 | SUEYA 57 Mels | £44240-3 2/ 0of 16,5628.0 @ 16,528.0 | =X[X[

794 | SUHEYA 57 dels | 412404 = 2,314.0 2,314.0  =X|XH

795 | SUHEEYAl 57 dels | 412405 2ot 3,306.0 3,306.0 =X|X[H

796 | SUHEYAl 57 dels | £41240-6 2ot 3,306.0 3,306.0 =X|X[H

797 | SMEYA| 2 ABIS | A240-7 2lot 3,305.0 3,305.0 = =X|X|HA
798 | SAZYA 2T ABIE | AR240-8 olof 3,306.0 3,306.0 =X|X|A
799 | SAZYA 2T ABIE | AR240-9 olof 3,305.0 3,305.0 =X|X|A

800 | SMEYA =7 Mol 4Ak241 = 21,285.0  21,285.0  =X|X|H
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EX| 2| Rl A2 omeis(w) | HYHNm) | SEX

801 St 57 Meks | 4R241-1 2l of 36.0 36.0 =X[X|Y

802 SN =7 Mels | 42412 = 6,949.0 6,949.0  =X|X[H

803  SMYAA =7 Mels | £1241-3 = 17,244.0 17,2440 =X|X|H

804 SN =7 Mels | 42414 2/ of 3,676.0 3,676.0 =A|X[H
805  StHYA 5T MakE | 4242 2lot 2,445.0 @ 2,445.0  =XX|Y
806  SMHHYAl 57 Lkels | At242-1 2/ 0of 3,306.0 3,306.0  =X|X|H
807 | SLHYA 57 Mels | Lh242-2 2lof 331.0 331.0 | =X|X|d
808  SMHYAA =7 Mels | £1242-3 2/ of 1,322.0 1,322.0  =X[X[H
809 St 57 LMets | 4f242-4 o} 992.0 992.0  =X|X|
810 | SATCA| 27 MalE | Al242-5 2ot 992.0 992.0 SX|X|Y
811 | 2t 57 tels M242-6 | 2lok 3,305.0 = 3,305.0 =X|X|A

812 | SATAA| BT MEls | A242-7 olot 10,744.0 | 10,744.0 =X|X|H

813 St 57 MslE | A242-8 | lof 861.0 861.0 =X|X|Y
814  SAIYA E7 MalE | A243 elof 4,760.0  4,760.0 = =X[X|
815 | SAIYA 7 MalE A244 elof 3,240.0 = 3,240.0 =X[X|
816  SAIA 27 MlE | A244-1 elof 2,631.0 2,631.0 SXX<
817  SAYYA 57 AMets | A244-2 ot 2,645.0  2,645.0 =KX
818 St 57 MslE | A244-3 | lof 2,007.0  2,007.0 SXX<
819 St 57 MslE | A244-4 | lof 1,973.0  1,973.0 SXIX|Y

820 | SMYYA 57 Mots | {245 = 8,235.0 8,235.0 = =A|X[H
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